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Fe | #s SHNEST | HEERSE | RELSRD | HuEmky P L
1 R 440224 xxwwxxxxx2(8 B FFxxx3 b HeELE 13000
2 JEHEE | 4402044k xxxxnnxd14 HLFJxx] 4t A e 8000
3 P E A 440232 % ks xxxxx%(31 B FFxxxx() L= HFEE 13000
4 WL | 4402035k xwxxnxx112 HLFFxx() it kR 9000
5 BRI | 440204%xkxxnxxxT23 B Fgxnx) it K % 8000
6 PABME | 445202 %%xxxxxx436 ) ik e EE 13000
7 ZEH | 44020254k xxxxxx644 HLED###%() ik e R E 9000
8 HHR | 4402235 xxxxxxx012 HLFD# % () ik 3k R 9000
9 FESCE | 440221 k% xxsnnns234 BLFDsxxx) 4t kIR E 9000
10 s 4123264 xxxxxxxx041 HLFQxxx4 it A e 8000
11 ¥E 440202 %% #x5x%x%05X B FH#x*8 ik MR ik % 12000
12 WAL | 441426 % xxxwxxx312 HFLxxx7 ik Wk % 12000
13 WAL | 500236%%xrxxxxx500 BLRGxx6 it it & 12000
14 | ARRGE | 441621%xxxxxxxx013 BLFDsx kx5 ik e ELE 13000
15 | ARIEE | 440232%xxxxxxxx614 H FHxxx( 4t MR 8000
16 | REFE | 44022 xxxsnxxxxT14 HETxx%8 ik MR 8000
17 Bk 36242 5%k xknnnnx)4T B EFxxxx() ik WA IR & 13000
18 | EHE | 410105#xxsnxxxx837 HLFH#x%5 ik i ES 12000
19 FEE | 440202%kxkkxkxx618 B FFxkxx() = HHEE 13000
20 | B | 420111%xsxxxxxx754 HIFg+%+8 ik Mo 15000
21 | Zade | 432824%xxxxxxxx185 HFSxx] ik MR e 2 12000
22 | BUEA | 441881sksrxxxxx614 HIR)w#%3 ik Rk & 8000
23 | FAEA | 440223kxxsxkxxx530 HLFD##x%5 4t kIR E 13000
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24 MRt HE | 440204 xxxxxxx310 HLRQ k47 ik Wk % 8000
25 | BEH | 440222%xxrxrxxx(32 HRG#x*) ik Wk % 8000
26 | HFHE | 440204%xsxxxxxx715 BLFFxsx#3 it HekEE 9000
27 | EAEAE | 440203%kxxxxxx876 HF3wxx8 L2 0a Wik % 8000
28 | RIEIE | 440221kxxkrxxxx918 HLFCHxx] it A e 8000
20 | fTREA | 440232kxxxxxxx819 HLACH##%8 it kIR & 9000
30 | shfEEE | 440281xkxkxkxxx413 HLFQxx%9 LA ok % 15000
31 | BRAKAR | 440223%kxsxxxxxT719 HLF3%%3 ik MR e 5 8000
32 % 4402025 % %5 x4%x %016 HLFD# %% %8 4t IR E 9000
33 | BRSUHE | 440232%kxxkxxxx733 HLF3%x%) L2 2d R e 12000
34 | HAKH | 362132%kxsxxxxx319 B FFxxx%6 4t kR 13000
35 | XUBRR | 4305201kxxrsxxnxT39 HF)xxx8 ik MR % 12000
36 | RUNE | 440232%xxrnxnxT17 HLFQxx() ik Wk % 8000
37 | ZXE | 440281x#xxrxxxx823 B FFx#x%6 it kIR 13000
38 B kA | 440225% % xwrnnx212 HPLxxx6 ik Wk % 12000
39 = s B 622822 % xxkxxx%%93X BLFFxxxx) = FaEE 13000
40 | EEFE | 440222%xxxxxnxx63] HLRWxx%) ik MR 3ot 2 12000
41 FHT | 440232%%xxxxxx%316 BESxkx) 3t Wit % 8000
42 BRE | 431022%xsxxxxx%402 HLFJx#%9 ik Wk % 15000
43 | FBEX | 440223#xsxsrxkxd]3 B FFx#%x9 it kIR 7 9000
44 | EA | 440229%xkrxxxxx935 B x4 %9 ik WL 9000
45 | RAA | 440202xxsxxxxxx651 B FDxxx%6 it kIR E 9000
46 | HHEE | 510215kskesnxxx534 HLF]%%%7 it Mo 12000
47 | FBAIIR | 440202%xxrxrxxx610 HLFDs#x() ik Wi & 8000
48 | BAEE | 440203#xsxxxxxx110 HIF)#%%) 4t MR F 12000
49 | BER | 433022%%kxkxxxx539 HLF5xx%6 L2 3Ad Wik % 12000
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50 ZRA | 440203kxekxnrxxT14 B FFxskx5 = HeeEE 9000
ST | R | 440204%xsxsxxxxT14 HF(Qxxx3 it MR 8000
52 FH | 4304225 % xxxxxx%699 HLRFrsks5 ik R E 9000
53 | BIEF | 362529%ksnxkxxx01] HLFDsxx%6 4t kR E 9000
5S4 | WEHE | 440221xsxxxxxx919 HLFFx+%8 it A e 8000
55 | xiEA | 440223sxxrsxxnxT13 HLFFxxx%6 ik RS 9000
56 B A 441822 %% xxxxxx%(010 HLF3%x%9 LA ok % 12000
5T | BRRIE | 440204%#sxxxxxxT15 BF6xxx6 ik MRk & 8000
58 | EiBIE | 440281xxkrxxxxxd)] HEE3xx%9 ik MR 8000
59 b 44022 3% wwkxnnnn(24 BLRDxsxx5 L= HEE 13000
60 2% 440229 %% %%k %452 3) HLFY###( 4t MR 8000
61 | PHRE | 440225sxxrsxxrxdld HLFFxxx%6 ik RS 13000
62 | ZEF | 440222%xsxxxxxx611 HLR (k%) ik Wk % 12000
63 | YFAFE | 440221xxxxxxxxx516 HLR6x#%9 it Wit 12000
64 | BAKI | 452523%xssxxnxrddX HLFFs# %5 it kIR 9000
65 BT | 440232k xnnnnnn)]] B FFxxx() L2 0a Wi & 8000
66 | FEHE | 440204%xxxnxx%629 HLFF#%9 it MR F 8000
67 B3 | 440221 %% kxknnnx)]) HLFDx#xx) ik ek IR E 9000
68 A 440221 % xxxxxx%632 HLF)##%9 ik Wk % 12000
69 HILE | 430703%%#xxxxx%455 HP5xxx6 ik Wik % 8000
70 Aigz s | 440232kkxknnnnx538 B EFxxxx() = HeeEE 9000
71 ko3 440202 % %% xxxx%%617 B FDxxx%6 it kIR E 9000
72 | AT | 440203%xsrxxnxx]1] BIRS#%+8 ik i ES 15000
73 | #=W 532129 %k sk nxx%356 BLRGxxxW 4t MR 12000
74 &% 440229 %% %% % %555 (3X HIF]#%%5 4t MR F 8000
75 HIRE | 4414245 x5xxx5x5170 HLED# %% %9 L2 3Ad Fill ) 9000
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76 K 4402245 xxxxxxxx026 B FFxx#x() At HeeEE 9000
77 x| jE Fa 440203%xkxxxxx719 BLFFxxxx3 = FaREE 13000
78 | BAKE | 440203%xsxsxxxxT11 HESxx%5 ik ok % 8000
79 | ZPATIE | 440229%xxxxxxxx918 HFN#x*8 L2 0a Wik % 12000
80 B ik | 440281 %k xxxxxxx035 HLFFx%3 ik HekiEE 9000
81 | X[WFE | 440224xxxnxkxxxdTX HFPx#x) it WK e 2 8000
82 | B4 | 440223kmxrrxxxx(28 HLFH# %9 ik Vi ES 8000
83 | #WHEF | 440233xxxrrxxxx(28 HLFD#*%%8 ik W ELE 9000
84 | AL | 440222kxxsxxnxxd]3 HLRY#x%) ik MR 15000
85 | ZWHAR | 440223%xskxxxxxT17 BFTxxx6 ik MR e 5 12000
86 BAER | 440221%%xkxxxx%513 B FF#x%8 ik AR 13000
87 | PEFE | 430424xxrrxxrsx035 B xxx6 ik W itk % 8000
88 K 1E X 44022 xxwkxxnnx314 B FF#xxx9 = e EE 9000
89 | HERE | 440524xxxrxxxxx21] HLFPx4%48 ik H B E 13000
90 | Iz | 440221xkxrxrxx519 HLF]#x%8 ik Wik % 8000
91 | EET | 440229%#xkxxxx%918 HLFS#xx] it R e 8000
92 | FTZEfE | 441881%xxkxxxxx312 HIRQxx+7 it MR F 15000
93 BAEA | 440229%ksxxnxxx218 HLFD#xx%8 ik RS 9000
94 b 430624 % %%k xxxx%149 HLFFxx%%6 it e EE 13000
95 | ZEH | 441882xxwrxrxxx333 B RFxxxx3 ik HekELE 16000
96 | BIEX | 440222%xsxxxx%x033 HIFL#%%) ik MR F 8000
97 TR 440203%xxkxxx%%727] BLFDxwxx] = FaREE 13000
98 | ZZEH | 440222%xxnxkxxx4) HLFD#xxx] it kIR F 13000
99 | BUBH | 440229%xxnxkxxx220 HLFDx k%5 ik R F 9000
100 %X 440221 % xxxk 565715 BLFFskx() 4t IR E 9000
101 12 440223 %%k x4xx+731 HLFD#xx%6 ik W ELE 13000
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102 | BEE | 440203%xxxxxxx739 B FFx#xx3 ik e ELE 9000
103 | fT4R, | 440203%sxxxxx%%725 HF)wxx8 ik Wk % 8000
104 | BRFEIH | 440221 %#xxsxnxx647 HLFH#%%7 it Mo 8000
105 | il | 440222#xsxsxxx%612 B FFxx#x6 L2 0a Eill ) 13000
106 | 40 440204 xxxxxxxxx614 B FDxxxx4 ik FHRE 9000
107 | AP4dE | 440221 #xxxxxxxx736 4 CERY) Ak R ik % 12000
108 | ZystfE | 440203%ksxxkxxx]35 HLFD# %% ik e ELE 9000
109 | ABJHE | 440281#skxsrsxx62] B FDx#xx] ik kIR 13000
110 | UG | 440232%%sxsxxxx018 HLFDs# () 4t 3k R 9000
111 | i | 440232%%xxxx%%%332 HLRD###%3 2 30a WL IR F 9000
112 | fT#RE 440229 %+ xxxxxxx 01X B FSxxx] ik WK 2 8000
113 | #EE | 440203#xsxsxxx%510 HLED#x %9 L2 3As HeeiRE 13000
114 | ZHF | 432826+ x+x4x%x612 HLF3xx%) ik Wk % 12000
115 | SF3EA | 440232%xxxxxxx117 BF a8 At MR 8000
116 | WR/NEE | 4401055 % #xxx+%086 ERTxxxT ik oSS 8000
117 | ARZEH | 441424%sxxxxx%%492 HLEDwx kx5 L2 0a WAL IR F 9000
118 %= 440224 %% xxx%%%021 B FDxxx% it kIR 9000
119 | #PEAL | 440229 %xxxxx%%239 BLED#xkxT] ik IR & 9000
120 | APERT | 430103%xsxxxnxx019 BLFD#x%%6 ik e EE 13000
121 | £BZ | 440232%#xxxxxxx118 BRSxxx] L2 3Ad K 2 8000
122 | xax | 440223%sxsxxxx%738 HLRGxx] ik Wk % 8000
123 | FEEH | 440223sxxxxxx2233 HLFWs#%9 ik MR 8000
124 YA 440225 %% #xxxxxx431 HLF3x%() it A e 12000
125 | FHAEIRE | 440229xxssxxnxx214 HLFFxxxx8 ik RS 9000
126 Y% 440202 %% %% %% %5012 HLFFxx] 4t B ) 13000
127 | BFFR | 440281sxsxrxrxx619 B RD#xxx4 ik WA IR & 9000
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128 | FRZ#t | 440220%sxxxxxx2744 HLFH#%%5 ik MR 12000
129 | A K | 440202%%xxxxxxx62X B FFxxxx6 ik bR E 9000
130 | ZESC | 440229#sxxxxxxx456 HLFVx#x8 it Mo 8000
131 | RAIL | 432824#xsxxxxxx193 HF w3 L2 0a Wik % 15000
132 | XUEHE | 440223%%xxxxx%x533 B FFxxxx6 ik IR F 13000
133 | ZfC | 440281xxsxsxxnxT12 HFBxxx9 ik WK e 2 15000
134 iR, 4402035 %% xxxxx110 BLFFxx %3 ik e ELE 13000
135 | fT/NF | 440281 #xxxxrxxx836 HIFSxxx3 ik it & 8000
136 | B2 | 440223#%xsxxx%x334 HRGexx] ik Pl 8000
137 | #FEHM | 440224sxxxxxxx744 BLFDsnxx3 L2 2d kIR E 9000
138 | KEIEAL | 522124%sxsxxxxx811 HBLFFsxx%3 4t kR 9000
139 | 3% | 440221%%xxxnxxx02X HLFPssxx6 it ek EE 9000
140 | XBF | 431022%xxxsxxx410 B FF#xx%8 = FaEE 9000
141 | {THE | 440221%#xxsxxxx614 HLFD*#%%6 ik e R E 9000
142 | HAIL | 440202%%sxxxxxx238 HIFG#+9 it MR F 8000
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